
Physics 102 Spring 2007: Suggested Problems # 8

1. Problem 29-49. (+10 pts)

I. +3 pts - correct expression for the magnetic field generated by one
semicircle at the center of the semicircle (P ).
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II. +4 pts - correct directions for the magnetic field due to the top wire
and the bottom wire - Biot-Savart.

i. +2 pts - B due to the smaller radius wire is directed into the
page.

ii. +2 pts - B due to the larger radius wire is directed out of the
page.

III. +2 pts - correctly subtracting out the magnitude of the magnetic field
at the center of the semi-circles.

IV. +1 pt - correct answer.

~B(P ) = 2.8 × 10−5 T (into the page)

1




	Problem 29-49 Criteria
	Problem 29-49 Solution



